Wednesday 3rd February
Instructions
[image: ]
[image: ]
[image: ]
[image: ]
[bookmark: _GoBack]Now have a go at the worksheets
image1.png
To /j'/un/d {maci/ucmus /cr/j" amounis and /O./P,/p/{/lé AX Ao word
/pmo/bizm/s.

Steve has 12 sweets.

He eats g of

them.
How many is this?

How mamay wiill he have Aefi?

O O O O O O O O O O O D

What is Ahe /q]MZ/S/tAOm /a/s/k/i/n/q us Ao do?
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Steve has 12 sweets.

He eats E of

them.
How many is this?  How mamny wildd he ha~ve Aefi?

7O OO O O O O O O O O O

s nsking ms Ao /j"/i/n/d-g— of 12, Ahem take Ahot amwany
from Ahe amoumnt he staried with.

|2+3=4 L X 2 = 8 A0 he has eaten 8

Awerls.

How mamny wildl he hawve Aefi?
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There are 18 apples in a shop.
. 5
Riya buys r of them.

How many does she buy?

I8 -6 =3
5X3 =15

She buys 15 of them.
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A skatehoard cosis &£449.

I/{ I /b/u/l.j ome, | can huy a secomnd ome ai

2_ off Ahe price. How much wouldd the second ome
1 cosiA?

L9 - 7=7

2X7=14
So | get £14 off the price.

£49 - 14 = £35




